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AC =10sin30° = 10x
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o2 1ol A x 9] k& otolet. (H sin44° = 0.6974, cos44°

0.7193, tan44° = 0.9653 )
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. x=14tan44° = 14 X 0.9653 = 13.5142
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(919] &0])= 3 x tan 61° + 3 x tan 28° = 5.4 + 1.59 = 6.99(m)




/ACB = 30° ©|2& DE = EF xsin30° = V3, DF = EF x
cos30° =3

OBEFC 7} AAFZgol2 &2 CF = 2V3
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AC = /(25V3)2 + 352
= VI875 + 1225
= V3100
=10V31(m)
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taIiQO" + tan 45°

T VB+1
=6(Vv3-1)




7-20]7} Aeto| A 2m Hol W FLof| A A
2 et B Zbo] 97]7F 51°, etk
B 7ko] 97171 36° At} o] e AA
o] &ol& Fstodt (T, tanbl° = 1.2,
tan 36° = 0.7)

¢

_l:l_
=

BC =2tan51° =2x 1.2 = 2.4 (m)
CD =2tan36° = 2x 0.7 = 1.4 (m)
. BD=BC+CD =24+14=38(m)
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AB = BC = 10(cm)
V3

CH = 10sin 60° = 10 x i 5v3(cm)




